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Genetics Laboratory (Solution)

Each clue underneath the crossword is actually composed of two different crossword clues run together.
When you solve each half (obeying the enumerations given), you get a pair of words. For example, clue
number nine is “Sad Communist” (4, 3). This breaks up into “sad” (BLUE) and “Communist” (RED), and
BLUE + RED = PURPLE, which fits in the ninth row.

The complete list of answers is:

1. OJ + CHAMPAGNE = MIMOSA
2. DUNK + PASS = ALLEYOOP
SUNDAY + SATURDAY = WEEKEND
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SEVEN + THREE = TEN

o

MILK + BACTERIA = YOGURT
PHONE + IPOD = IPHONE
SCORPION + LION = MANTICORE
MISS + SWING = STRIKE
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BLUE + RED = PURPLE
10. Y + EQUALS = YEN

11. RIFLE + KNIFE = BAYONET

12. IRON + OXYGEN = RUST

13. HOUSE + SENATE = CONGRESS
14. BARS + STARS = CONFEDERACY
15. FAT + LYE = SOAP

Putting those in the grid and reading down the main column gives the answer, MONTGOMERY BURNS.



